Midterm Examination of Higher Education (M.Sc. Student) (2023-2024)

Q1: Define the following words? (Marks)
(Incomplete flower — Monoecious plants — Dicogamy - Vernalization)

Q2: Define the flower, and what are the functions of the flower? (Marks)

Q3/ Answer the following question? (For each branch 4.5 marks) (Marks)

1 - What is the rolle of the stigma in the plant flower?

2 - What is the rolle of the anther in the plant flower?

3 - Ultimately, one or more of the factors (i.e., size, age,...) likely induce changes in, what?

4 - What is the meaning of "timing mechanism™?

5 - Depending on the some factors the Juvenile to adult transformation scheme can modify to the
new scheme, write this scheme?
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Q4: Fill the blanks with correct words? (Marks)

1-...... are the primary structures used in grouping plant families.

2 - Pistil consists of four parts ...... Y eeen ) s and ......

3 - Flowers are attractive and appear in different colours and shapes to attract ....... who help

in...... transfer.

4 - Sexual reproduction requires genetic material (...... ) from two parents. The parent plants
have male and female sex cells, called ....... :

5-...... produced through fertilization contain genetic material from both parents.

6-......... happens when a plant’s own pollen fertilizes its own ovules.

7 - There are different methods of asexual reproduction. They include ...... and ...... :

8 - Vegetative propagation does not require seeds or spores it happens in different ways, like
...... s ey ennnny eeand Lo

D. Jihad Sh. Kader
Assist. Prof.


https://www.toppr.com/guides/biology/sexual-reproduction-in-floweing-plants/outbreeding-devices-pollen-pistil-interaction/

